®

— . — —
1S09001:2000 § - ol = =
CHy CH EJG%N;EHEE

CQ2 AJHEISEL

CQ2 Series Thin Tyoe Cylinder

JTM945 | Ordering Code

(caz) (B (12) = (10) (D (M)
- A l

|§§'H’€% %= Ak 78 #; 1F 78
Series Code B: &7 Cvlinder Bore Stroke Stroke Stroke
A iR RS 12: 12mm D: X&h HH (i)
Installatione 16: 16mm S By CBEEMED o #Fim AR L
B: Through Hole 20: 20mm T B GREER) C: RERLE
A: Double End Internal Thread | 25: 25mm * ABHREAES FRHSA M FFIRSM AR L
32: 32mm * BENS EL AT LUNRET B
40: 40mm
50: 50mm
63: 63mm
80: 80mm
100: 100mm

EFFF= | Graphic Symbol

VA

1 T T I
W B B
(SREEED (REEL)
4. | Specification
RES
Bore (mm) 12 16 20 25 32 40 50 63 80 100
IR P
wOrkin,qJ Medium =5 Air
I F o o o
ﬁ,ﬁf T,Zue,,] M Double Action #3) Single Action G#EERE / REEH)
TRIEMIE 71
n. prootf pressure 15MPa
& EAED
Max. Operating Pressure 0.99MPa
INEFRARE )
Condilionland N?ediilzm Temperature 5~60 ¢
ztiﬁrfiéf % Serew Thread RSREL (FR/AE) SMESLEIE)  Internal Thread(Standard) Male Screw(ITake Whichever)
Zih
Buffer Z  Non
ITIRANE
Stroke Allowable Error +10 O
S,

)I.:letf]rlizale AEE  Non
ok
f::”a“w TAFL hre) , B ABRSL ((F5E)  Through Hole(Standard) ,Double End Internal Screw([Take Whichever)
EEORRC (PT)
Joint Bore RG(PT) M5 X 0.8 1/8 1/4 3/8

A-48



1ISO09001:2000

. ®
7 aY lmSn
Lehy PES

CQ2 AFHESE

CQ2 Series Thin Tyoe Cylinder
4ME R~ | Overall Dimension
CQ2B ¢ 12~ ¢ 25

HERS BC

a-¢N BTl

&#0 FRT 1L

g

L B+ {if

2p
{8k

CQ2B ¢ 32~ 4 100 20

HEBLR RC

iz
won Bl o
90 R AL ] 1

=]

[.L

G
g

]x Iﬁ

z

£ [m |5

WENSEIR~F3F | Double Action Cylinder Overall Dimension

23S *{TI2SERE
Mol = B | ¢D| E | F H c | o1 | y K L M | &N P a | w| z
cap-0p | 5~30 17 | 6 | 25 | 5 |M3x05| 6 | 32 | - 5 | 35| 155 | 3.5 M5%08| 7.5 | - ;
COB16LD | 5-30 | 185| 8 | 20 | 55 |mMax07| 8 | 38 | - 6 | 35| 20 | 35 M5%08| 8 - | 10
ca0lp | 560 | 195 | 10 | 36 | 55 |Ms5xo08| 7 | 47 | - 8 | 45| 255 55 M5X08| 9 . | 10
comoslp | 560 | 225 | 12 | 40 | 55 |mex10| 12 | 52 | - | 10 | 5 | 28 | 55 M5X08| 11 - | 10
cQ2832-0D 5 23 | 16 | 45 |[~25 mex125| 13 | 60 | 45 | 14 | 7 | 34 | 55 | omy MOXDEL NS 4951 45
10~50 75 18 | 105
comao-0p | 550 | 205 16 | 52 | 8 |msx125] 13 [ 69 | 5 | 14 | 7 | 40 [ 55| o9&y 18 1 | s1 | 18
coBs0-0p | 10~50 | 305 | 20 | 64 | 105 |mM10x15] 15 | 86 | 7 | 17 | 8 | 50 | 6.6 | 11%8 1| 105] 71 | 22
comeslp | 10~50 | 36 | 20 | 77 [ 105 [miox15] 15 [ 103 7 | 17| 8 | 60 | o [1aFtos| 1m 15 | 84 | 22
coBs0-0p | 10~50 | 435 | 25 | 98 | 125 |mi6x20| 21 | 132 | 6 | 22 | 10 | 77 | 11 |175%135] 38 16 | 104 | 26
cozB1oo0p | 10~50 | 53 | 30 | 117 | 13 |m2ox2s5] 27 [ 156 [ 655 | 27 [ 12 | 94 | 11 [175%135] 3 23 | 1235] 26
+x $C1TFE | Length Stroke
i 1732 (mm) B F P Q ’ Tﬁjﬂimﬁsomm i ) o
Bore / Symbol ** $7426 55mm Z 100mm 2 EEE {52 (55.60,65,70.80.85,90,95),
32 75,100 33 7.5 118 10.5 5.10.15 5 20mm ERGHY
2 T BT R Yo R ©or BB, BIDSERTRARA RS SR TR
63 75,100 46 10.5 114 15
80 75100 | 535 12.5 3/8 16
100 75,100 63 13 3/8 23
e il ===} 2 . . N Sr o N
hEATIMELY i RBZ L & 52 B /CO2A B/ BMEREEH & 12~ ¢ 50
Q. P IR
“\ o- 483 on SETL i
§ [ 7
el - ] - A
© W
K X A A
L Bt Fi82
L A
brKES FrikES FrikES A L
Bore c X ®D I L K Bore R 0 Bore 5st 10st | 20st 5st 10st | 20st
12 | 9 |105| 6 | Ms5x08 | 14 | 5 12 | 7 | maxay 12 | 305 | 405 | - | 85 | 135 -
16 | 10 | 12 | 8 | M6x1.0 |155]| 6 16 | 7 | maxo.d 16 | 32 | 42 - | 85 | 135] -
20 | 12 | 14 | 10 | mex125 [185] 8 20 | 10 | ®6x1.0 20 | 34 | 44 - |95 | 145]| -
25 | 15 | 17.5| 12 | miox1.25| 225 10 25 | 10 | W6 x1.0 25 | 375 | 475 | - 10 15 -
32 | 205 235] 16 | miax15|285] 14 32 | 10 | #ex1.0 32 | 40 | 50 ; 12 17 ;
40 | 205 | 235| 16 | MI4x15 | 285 14 40 | 10 | Mex1.0 40 | 465 | 565 | - 12 17 ;
50 | 26 | 28.5| 20 | m1sx15 |335| 17 50 | 14 | Mex1.25 50 - | 585|785 | - 18 | 28
63 26 285 | 20 M18 X 1.5 | 335 | 17 63 18 W10 X1.5 = BRIEEHANENE, BFLEASERTHAEENELSKEERT
80 | 325 355| 25 | M2x15 | 435 22 80 | 22 |wizx11s E—#
100 | 325 | 355| 30 M26 X 1.5 | 435 | 27 100 22 | MW12x1.75 Erost=9T1






